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QUESTION 1

Which two cloud deployment models address data privacy issues? (Choose two.)
A. Community

B. Public

C. Private

D. Hybrid

E. Campus

Correct Answer: CD

QUESTION 2

A new FC switch has been installed into the data center. You want to disable any unsecure protocols used to access the
management ports.

Which two protocols should be disabled? (Choose two.)
A. HTTPS

B. Telnet

C. SSH

D. SNMPv1

Correct Answer: BD

QUESTION 3

After provisioning a new LUN to a host, new storage cannot be detected on the host. Which three actions should be
performed to troubleshoot this problem? (Choose three.)

A. Scan memory on a host.

B. Scan for new storage on the host,

C. Verify that LUN mapping is correct.

D. Verify that zoning on the FC switch is correct.

E. Verify that the size of memory pages and block size is the same.

Correct Answer: BCD
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QUESTION 4

You have been asked to create a LUN on a storage array that is comprised of 7,200 rpm SATA drives. Each drive is
rated at 100 IOPS. The LUN should provide a minimum of 1100 IOPS and withstand multiple drive failures using the
least number of drives.

How many drives and which RAID level should you use to create this LUN?

A. 11 drives and RAID 0

B. 12 drives and RAID 5

C. 13 drives and RAID 6

D. 22 drives and RAID 1

Correct Answer: C

QUESTION 5

You need to add an iSCSI host and storage array to your environment. Your manager wants at least two options that
allow all iSCSI initiators to query a central management server to locate the address of all iISCSI resources (e.g., iSCSI
initiators, targets, switches, and management stations).

Which two protocol methods would be used? (Choose two.)

A. Directory Name Service protocol (DNS)

B. Simple Network Management Protocol (SNMP)

C. Internet Storage Name Server protocol (iISNS)

D. Service Location Protocol (SLP)

Correct Answer: CD
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